FEDERAL PUBLIC SERVICE COMMISSION

COMPETITIVE EXAMINATION FOR RECRUITMENT TO POSTS
IN BPS-17 UNDER THE FEDERAL GOVERNMENT, 2001.

MER ILE LAW

TIME ALLOWED: THREL HOURS MAXIMUM MARKS: 10D

’

- NOTE: Atlempt FIVE queslions in all, including question No.8 which is
COMPULSORY. All questions carry EQUAL marks.
1. Discuss the importance of frec consent in contracts. When do you think, consent

is said to be ‘not free’, and what effect will such u consent have on contracls?

2. Discuss in detail remedics for breach of a contract given to a s:llcr against the
buyer in the Sale of Goods Act.

3. Define partnership, and discuss the essential elements of partnership in detail. -

4. What do you understand by the words, 'negotiation’ apd ‘negotiable’? There are
special rules of evidence relating to pegotiable instruments. What are they?

5. What is arbitration? [low an aebitrator is appointed, and what are his powers
under the Arbitration Act?

0. Explain the nature of a contract of insurance. Distinguish between life insurance
and other kinds of insurances.

7. Write short notes on the following:

{a) Surety
(b  Warrantics
(¢)  DBailmem
{d) Awad
COMPULSORY QUESTION
8. Write only the correcl answer in the Answer Book. Do not xcpmduoc the
questions.
(1) A propuses, by a letler sent by post, o sell his house to B, The acceptance
of the proposal iz complete:
(a) the moment the letier is poated by A;
(b)  Lhe moment the lelter is received by B;
{¢)  None of thesc,

)

J)

(4)

)

In order to convert a proposal into @ promise, the acceplance must be:
{0)  Conditional; (b)  Unconditional; (c}  None of these

A voidabic contract may be lumed by the option of the party at a Joss into:

{a)  avoid conlract; (b) a valid contract; {t)  None of these e
The maximum number of members in & private company is:
{a) 60 (b) S0 {¢)  Unlimited,
The maximum auntber of partners in a firm is:
(a) 8 {b) 25 (c)  None of lhese
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(7

(8)

(9

(10
(i1
(12)

(13)

(14)

(15)

' (16)

(i7)

(18)

(19)

(20)

- MERCANTILE, LAW

The Companies Ordinance, 1984:

() applies to a Co-operative Society  (b)  Insurance Companies
(b)  None of these

A Company is subsidiary of another Company:

(@) ifthe other company tiolds more than S0% of ils voling shares;
(b)  less than 50% of its voting shares;

(c)  Nonc of these .

P appoints A as his agent. A isnola person of ful) age:
(8)  the appointment of A is not valid;

(b) - the appointment of A is valid;

() None of these *

Statutory meeting of a Company is held:
(a) Once in the life-time of the Company; (®)  every year

()  None of these

Publication of Prospectus is Compulsory by:

(@)  aPrvate Company {b) .aFim{c) Noaeofthese
Avard is a decision given by:

(a8)  aCout (b)  anarbitrator (c)  None of these

A lends some omaments to B to be used in a marriage. The transaction js:
(@) abailment (b) a pledge (€)  None of these

A partier may be expelled from a pantnership by:
(n) & majority of partners (b)  orders of the Court
()  None of these

Third Party Insurance is an insurance relating to:
(a)  Motor vehicles' accidents ()  Injuries duc to war
(¢)  None of these

A Bill of Exchange has:
(@ wopaties (b) three partics  (¢)  None of these

A minor; .

(8)  canmake, draw, accept or indorse a negoliable instrument
(b)  cannot make, draw, &ccept or indorse a negotiable instrument
(¢}  Nonc of these

A void as well as an illegal contract is:
(@)  Similarineffect (b) Not similar in effect ()  None of these

In the Companics Ordinance, 1984, there are:
(a) . Kindsofshares (b) No kinds of shares ()  None of these

Like a cheque, a bill of exchange may be: ‘
(@)  crossed (b)  cammolbecrossed ()  None of these

An execulory consideration takes the form of:

(8)  apromise to be performed in future

(b)  relates 1o the present act made for a promise
(¢)  None of these

AL LI E T
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FEDERAL PUBLIC SERVICE COMMISSION @

C'OMI’ETITIVE EXAMINATION FOR RECRUITMENT TO POSTS
IN PBS-17, UNDER THE FEDERAL GOVERNMENT, 2002

MERCANTILE LAW .

‘NOTE: 1: Attlemp FIVE questions in all, including QUESTION NO. 8, which is
COMPULSORY. All questions eurry EQUAL marks.

2. In vach of the followmy cases give your decision and staie the legal
principle that applies. Your answer must correctly identify the relevanl
areas of law, accwrately discover and apply the appropriate principles,
case-law anl stalite Jaw, and should be well structured and arpucd.
Please refrain from: (1)-Reproducing the facts of the cases; (2)-
Unnecessary and ivrelevant details; (3)-Unreadable handwriting.

1. jamal Khan and Kamal Khan have planned to slart a business of groceries in
_pactnership. They have agrecd that in case of any future dispule between them
they will never po to a court of law for decision instead they will do their utmost
to get their dispules setiled by soine means outsiderthe court. What da you Lthink.
how can they seek their purpose? How would you advise them?

2. Gama, Maja and Billoo were in partnership a5 hairdressers. On 8 April, 2002,
Billoo retired from the partnership. A few days later, Gama and Maja bought, in
the firm's name on expensive laser hairdressing machine to replace their
traditional machines. On 17 April, a van arrived with a delivery of seven”
hei-dressing chairs. The van driver showed them a purchase order in the firm’s
name, dated 3 April and signed by Billoo. Gama and Maja are refusing to pay for.
the chairs. They have also failed to pay for the laser hairdressing machine and the
firm is in severe financial difficulties.” Both suppliers are threatening Are they,
bound to pay for both of the transactions? Discuss.

3. Jamal steals a Lill of exchange and forges the signature of the payee on the reverse

of the bill, Hle thew transfers it for value to Bilal who takes it in good (aith without

" being aware of Uy fovgery. Bilal transfers the bill to Kamal. The payee discovers
that Kamal is in possession of the bill and he demands that Kamal return it to him.
Who is legally entitled to the bili and why? Would it make any difference to your
answer if the payee had been awarc that famal had taken the bill but had done
nothing about it \iml he heard that Kamal was in passession of it?

4. Dilawar Khan and Badam Gul are in partnership vunning an extremely successtul
computer soltwarn: business. Sanober Khan has decided to join the business and is
able to invest a substantial amount of capital. They have decided that the business
should be incorpgrated as a private limited company. Dilawar Khan, Badam Gul
and Sanober Khah will each hold one third of the shares and they will be the
directors of the company. Please advise them on the advantages of a limited
compaity as compared with a partnership:

A. With regard to oblaining finance for furlher business expansion;
B. With regard to the liability of shareholders in the event of the
winding up of the company. .

5. The National Association of Potato Exporters (NAPE) requires additiunal storag,e
space. It advertises for tenders to erect new storage lacilities. It receives cight
tenders and the Board decides to accept the tender of Imamm Bakhsh & Co. ‘The
Chicf Executive, Mr. Shehbaz Chatha is required 1o accept this offer and to notify
the others that they were unsuccessful. Mr, Chatha asked his secietary to type up
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MERCANTILE LAW = \
the letters. A mislake is made in the lypmg and the name of another tendercr, ¢ S

Badam Gul & Co. is veplaced for Imam Bakhsh & Co, “Ihe letter is signed and

" deliveced to Badam Gul & Co. The next day whed the M.D of Badam Gul & Co
phoned My, Chatha to discuss some details of the work to be done Mr. Chatha
realized that there had been a mistake. 18 there a binding contract between NAPE
and Badam Gul & Co?

6. On 1 September Baber contracted for the purchase of 50 computers (rom Sardar.
The contracl stated that the computers weve to be delivered on 5 September.
Despite the foct that Baber persistently pressed Sardar for delivery, the computers .
had slill not been delivered by the end of Lhe month while Sardar had repeatedly
assured Daber that the compulers would be delivered by the First of Octaber at the
latest. Baber then told Sardar that if the computers were not delivered by the 5
October, the contract would be terminated, Sardardid not attempt to deliver until
10 October. Having bought other computers on the 6 October, Baber cefused to
take delivery. Was he justificd in refusing the delivery? Discusa.

7. Mr. Brown agreed to sell his computer of a specified mark and model to Mr. Green
" for Rs. 30,000/ -. When Mr, Green went to him tol pay him the price and pick up
the computer he found that Brown bad already sold such computer to someone
else. He threaten to suc Dgown for the Breach of [Contract but later on the saime
Jday he bought a computer of the same mark, model and specification tor a Rs.
20,000/-. Should he sue Beown for the Breach of Contract? ls thece any benedit foc
hisn in bringing such action against Brown?

COMPULSORY QUESTION

8. In each of the followiﬁg clauses of this question only une statement is correst,
Write down in your answer book only the correct statement of the following
clauses. DO NOT WRITE THE WHOLE CLAUSE: )

{1). Portage Ltd wishes to alter.its memorandum m state that all of the company 3 . ' ‘:_‘:
sharcholders must hold a minimum of 200 shares. Can Brian, who cutrently - ¥
owns 100 shares, be bound by this alteration? -,

A. Yes, if Lhe alteration is done by special vesolution. !
B. Yey, if the alleration is done by ordinary cesolution,

C. Yes, but only if he gives his written consent.

L. Nope of these.

{2). Gama offers to sell his Car to Maja for Rs. 550,000/-, Maja actepts the offer but
states that he would buy it for Rs.500, 000/ -, The statement of Maja is:

A A conditional acceptance;
. . A counter offer;

C. Rejection Lo the offer.

D. Noue of these.

(3). Kala Khan agreed to supply onion lo Sodagar Khan six months after the date
of contract and Kala Khan agreed to pay for such supply. Two months aftex
the conclusion of the contract Kala Khan refused tu supply. In such case whxch

" ol the foliowing facls is correct?

A. Sodagar Khan cannot sue Kalo Khan until the expiry
«f six months after the date of the contract;
B. fodagar Khan cannot sue Kala Khan because he has
not yet paid him for the onions;
C. ¢ ‘fodagar Khan can validly suc Kala Khan any time
. {ter he refused to supply onjons.
D. }\Ionc of these,

T PAGE 21! of 1 | NUMPAGES 4.1

ATV R iwm »

CSS.THEAZKP.




_TWELAW

sceepted the offer. Kiramat Hussain's answer to the of [er is:

A. A conditional acceptance;
B. Acounter offer;
C. Anoffer.
2. None of these.
(5). The appointinent of a person of the minor age as an agent is:
A. Void;
B, Valid;
C. Voidable.
. Nunc of lhese,
(6). "Third party Insurance is an insurance for:

A. Motor vehicles” accidents;
B. Jujuxics in war thue;

) C. None of thuse.

(7). A bill of exchange involves:

A. One'party;
B, e Vadies,
C. Mode an laee pachies,
1), Noue ol these,

(8). A Learer instelirment may be negotiatpd by:

A, Mere delivery;
B. End.orsement and dclivery;
o) Dcl}voty willh a separate writlen contract,
D. Noi e of these,
{9). Anorderinst. ument may be negnmled by:

A. Mere delivery;

B, Endocsement and delivery; : 3
C. Delivery with a separate written cvmmct. i ‘
D. None of these.

{10). A partnership business is unlawful if thc number of parlner; in it is:

A. More than seven;
B. More than ten;
C. More than lwenty.
D. Nonc of these,
(11). The relation betwoen the partoers of a finn is of:
A. Employer and Employee;
1. Trusleennd Beneficiary; L
C. Principal and Agent. :
12. None of these,
{12). Anunregistered contract of partnership is:
A, Valid;
B. Void,
C. Unenforceable.
D. Nonre of these,
(13).A decision made by arbitrators is called:
" A. Scalence;
B. Award;

C. Judgement,
D. Nune of these,

Sharalal 1lussain offeced to sell his tanga to Sadaqat Hussain fur Rs 35,000/ - .
but Sadaqut Hussain did not answer and neatby standing Kiramat Iussain

g ——

Ay Y T
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MERCANTILE JAW : y
i {14).An -empire in an arbitration reforence is appomtcd when lhe t\umber ot’ ,.:.\«-_..
arbilrators is: ; -1
' A. Odd; <
E : B. Evcn. : i ® 3 ’
C. Nouute of these. - o e ' ‘ .v
: (lS) The m:mmuni number of members ina Private Uxmled Oumpany is _
; ) X
' . §:. | : '{' ' ‘3-
4 * ’ i
A Te duedors,z : . ;
: - U. Se .éndimtom. T b Y& e e
: : w directors.; . i R i
s | D. Noncul’lhﬂc J 5 : T e .
-: (17) Whu:h of the following rights a company cannot have:” .«
| A. Right to own immovable property; = ©.7 1 v #ad
] t - B. Right to vote ip the general elections of lhealate wef¥ g f
i C. Right to sue in its own name, : AT ¥
: 2. None of these. 8 . S LR P
(ls) ‘The minimum age (ora person who concludes a contract of sale of goods m
! A Twenty years; St ) v b gt
t , .
i )+ B. Sixteen year; - K VA, e
i i LLG Eighteen yeats . ."' e Rt O e el )
': e ! *D. None of these.th ofi vl e o g B it i) 13 3
! (1911t ip essential for the vahdny of contmct o{ sale of goods that the pm:e mu
f : beFald R |‘ { n‘~‘a(x|xr1 F‘d ] ‘ ( A 0! ;z
! s f i A.Inadvance; A 5 §-~.;:~ '.“. L5, &8
| © %+ i B. Threedaysafter thodelivery : e:' R LA O B
. : { C Noneonllcsc Ny _.) vt * Wil 't.' wn oal ,
" (20)f the delwer) of goods under aq)ptta:t olsaleof goods ls.iate. TOARLIN
' A. Tht buyer is not bound to accept thé deliVery, e g3 ’
8 Thg buyer is bound to accepl the dclivery; .
C. Nonc of these. , ] O
, ‘ e Tt hera .ll- “ " :
‘1 Sendandas it ‘e it el '.'" '\ b
T o e T £ A e BT T

' 3 y ‘h;.-'
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FEDERAL PUBLIC SERVICE COMMISSION

COMPETITWE EXAMINATION FOR RECRUITMENT TO POSTS
"IN PBS-17, UNDER THE FEDERAL GOVERNMENT, 2003

MERCANTILE LAW

TIME ALLOWED: THREE HOURS MAXIMUM MARKS: 100

NOTE: Answer FIVE questions in all, including question NUMBER- 8 which is

&

COMPULSORY. All question carry EQUAL MARKS. In each of the
{ollowing cases give your decision and state the legal principle that
applies. Your answer must correctly identify the relevant areas of law,
accurately discover and apply the appropriate principles, and should be
well structured and argued. Please refrain from: (1)-Reproducing the facts

of the cases; (2)-Unnecessary and irrelevant details; (3)-Unreadable
handwriting.

. Asif and Babar carried on 2 business of household furniture under the name,

“Asif & Babar's”. The partnership was dissolved in Aprii 1999, but Babar carried
on the business under the same name. In 2001 Karigar (Pvt) Ltd. which had not
previously dealt with Asif & Babar's, obtained an order to supply them with six
suits of furniture. The price was never paid, and the company obtained
judgement for the recovery of the price against Asif & Babar’s, and sought to
enforce it against Asif. The only knowledge which the company had of Asif was
that his name had appeared on some old headed notepaper (used before the
dissolution), which had been used by Babar without Asif's authority in
confirming the order for the purchase of the furniture, and which Asif had failed
to destroy before he left the firm. Is Asif liable to Karigar (Pvt) Ltd? Why or why
not?

“The Law treats a registered company as a separate legal person from its
members. To this general rule there are several exceptions.” Examine the
statement by giving two examples of circumstance in which the court will iook at
the reality behind the legal fagade.

Aftab subscribed for shares in Overseas Trade Ltd. on the basis of the prospectus
which showed that for the previous five years the company had carned
substantial and increasing profit. Shortly after allotment he sold half of his shares
to Bilai at a large profit. The information in the prospectus was correct bul it
omitted to mention that much of the business was in the Middle East and
because of war in that region the profits had been materially reduced. The shares
are now half the price paid by Aftab.

Compare and contrast the remedies available to Aftab and Bial in such a
situation.

How is a contract affected by a unilateral mistake of fact? Discuss in detail.

Arif purchased a used car from Green Motors. He asked the seller if the car had
ever been wrecked in an accident. The salesperson of the Green Motors Ld. had
never seen the car before that morning and knew nothing of its prior history, but
quickly answer Arif’s question by saying, “No! it has never ‘been wrecked in an
accident.” In fact the car had been seriously damaged in an accident and,
although repaired, was worth much less than the value it would have had f
there had not been any wreck. When Arif Jearnt the truth, he sued Green Motors
Ltd. and the salesperson for rescinding the contract on the basis of fraud. They

" raised the dcfence that the salesperson did not know that the statement was false

and had not intended to deceive Arif? Did the conduct of the salesperson
constitute fraud? Why or why not?

Compare the status of the finder of a lost cheque with the status of the finder of a
lost watch. Discuss in detail.
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7. There was a dispule between Ali and Bashir which they referred to an arbitrator A
The arbiteator decided for Bashir. A law graduate nephew of ‘him told him that, * \
unlike a judgement of a court of law, the award of an arbitrator can not be
executed by a court. \
Can he involve a court in the execution of such award? How? Under which law?
Advise him in detail. \

PULSORY QUE N

8. In each of the following clauses of this question only one statement is correct. \

Write down in your answer book only the correct statement of the following

clauses. DO NOT WRITE THE WHOLE CLAUSE: 5

(1)  To what extent is a member of a company which is limited by guaranice

personally liable for the company's debts?

(a) He is personally Jiable for 2]l the company's debls at any time.

(b)  He is personally liable for all the company’s debts if the company is
wound up. »

(¢) His personally liability is limited 10 the amount set out in the 2
memorandum on & winding up.

(d)  His personally lability is limited 10 the amount set ouwt in the
memorandum al any time. f

(¢)  None of these. '

(2)  Jamshed, a housc painter, misreads his work onder'and paints Salman's house by (
accident while Salman sits inside watching. Which of the following is correet?
(a) a unilateral contracl has been formed.
(b) an implied contract has been formed.

(¢)  abilateral contract has been formed (
(d)  aquasi-contract has been formed
(¢)  nocoatract has been formed ¢

None of these
(3)  On 30-11-2003 A offcred to buy one of the 10 tables of the same specification
present in B's shop for S00 rupees. B accepted the offer. Jt was agreed that the
table would be delivered on 1-12-2003 while the price would be paid on .
8-12-2003. Jt was not clear which of those tables was utiributed to the contract. _
Which of the following is correct. ¢
() The 1able became the property of A when his offer to buy
was accepted by B. .

“(b)  The table will become the property of A on 1-12-2003 ¢
when it will be delivered 1o B.
(¢)  The tabic will become the properly of A on 8-12-2003
when he will pay the price. ¢

(d)  None of these.

(4) Akfam scnl a proposal 10 Banaras by post for the sale of his stall in the Sunday
Market. Banaras accepted the offer by post. Banaras may revoke his acceplance
at any time before:

(a) Akram receives the lctier of acceptance. (
(b)  The parties sign the contract,

(¢)  Danaras posts the leuter of acceplance
(d)  Noue of these.

(5) A appoints B as his agent for buying him a house. B appoints C as his agent to ¢
amrange a bouse 10 be bought. C is liable 1o
(a) Boaly. (b) Aonly. . ;
(c) Bothofthem (d)  Noneof these ~ i S8

(6)  Delivery of an insurance policy to the inswred is: o
(a) Nol csscatial
(b) Essential to lorm a binding contract between the parties.
(<) Equal to the acceptance by the insurer of the terms of the palicy.
(d) None of these.

(7) A partner may be expelled from a fimm:
(a) By the majority of the partners.

(b) By all the partners uranimously. C S S . T H E A Z Kk P ) C
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(8)

&)

(10)

(am

(12) .

(3)

(14)

(15)

(16)

(1

(18)

(19)

(20)

W
{c) Under the contruct of partncrship if it expressiy provides for the
expulsion.
(d)  Noneof these
An order instrument may be ngotiated by:

(a)  Mcre delivery; (b)  Endorsement and delivery.
(c)  Delivery wilh a scparatc wrilten contract.  (d)  None of these

A cheque is always payable:

(a)  Ata fixed date. (b)  Ondemand.

(¢)  Aferthe expiry of certaint wber of days afler maturily.

(d)  None of these

A sold some food stuff 10 B, a minor, on credit, I B refuses to pay:

(a) A can be paid out of the property of B.

(b) A cannot be paid at all.

(c) B will be personally liable to pay him.

(d)  None of these.

If » contract has been fully performed by both parties, that contract would be
described as:

(4}  Exccuted Contract. “(b)  Exccutory Contract.
(c) Implied Contract. (d)  None of these.

An unregistered contract of sale of a computer is:

(&)  Valid; (b)  Void;

(c)  Uncnforccuble, (d)  None of these.

A decision made by an arbitrator is:

(a)  Final; (b)  Appealable.

(c)  Appealable with the agrecment of the purties.

(d)  Noncof these.

Each parly to an acbilration agrevment can appoint:

(a)  Only one arbitrator. (b)  Oanly two asbitrators,

(c)  Only three arbitrators. (d)  None of these.

Shahid and Hanid wished to form a company. On | December 2002 they fited all
the required documents with the Registrar. On 10 February 2003 they reccived
the Cedificale of Incorporation dated | February 2003. The company was

incotporated on ;
(a) | December 2002. (b} ! February 2003.
(c) 10 February 2003. (d)  Nonc of these,
A public limited company musl have:
{(a) Ten dircctors; 5 (b)  Seven directors;
(c) Two directors. (d)  Noac of these.

- A Listed public limited company must have:
(a) Ten dircctors. (b)  Scven directors.
(c) Two directars. (d)  None ofthese.

A, aged 18 for whom a court has appointed @ guardiun, wants to make a contracl.

 He can make a contract:

(u) Afler attaining the ape of Tawventy years:

{b) After attaining the age of Twenty-one years

(c) Now. (d) Nope of these.

A agrees to pay B 10,000 rupees if his (B's) horse wins the race. The horse died
one day before the ruce. The contract is:

(a) Enforceable. (b) Void.

(c) Voidable. (d)  Noneofthese.

Abid's son has forged Majid's name 10 & pronote. Majid under threal of
prosecuting Abid's son demanded that he should seil him his bungalow that is
worth one billion rupees for one million only. Abid had nc way cxcepl to agree
with the proposal. The contract is:

(a)  Valid. ; _ (b Void
{c) Voidable. = ()  None of these.

LLE L LR 22
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FEDERAL PUBLIC SERVICE COMMISSION

COMPETITIVE EXAMINATION FOR RECRUITMENT TO POSTS
IN BPS-17, UNDER THE FEDERAL GOYERNMENT, 2004

MERCANTILE LAW

TIME ALLOWED: THREE HOURS___
NOTE:  Auvempt FIVE questions in ali, including QUESTION NO. 8 which is
COMPULSORY. All questivns carry EQUAL marks.

1. ~ A (irm ol buiiding contractors had contracled (o build 50 houses in 10 months. The work
took 20 monihs to complete because of the lack of skilied labour. The contractors
pleaded thal the contract price was not binding on them, and that they were entitied to a
preater sum o {he basis of a quantum meruit in view of the oxtra labour costs involved
becanse (he contract had been frusirated. What are your Comments7?*

2. Mr. Zulfigar was offered the post of Prefessar of Law at X University on the condition
that he would get his practicing licence cancelled lo cease law practice. Mr. Zulfigar did
nol agree 1o cease to practise. On this the University authorities refused to employ him in
the post, Can Mr. Zulfigar succeed in the suit brought by him against the University for
gelting the job? Explain.

3 A company had power under its *Memorandum'—“to sell or lend ail Kinds of railway
plant and to carry on the business of mechanical engineers and contractors”. Its dircclors
agrecd to build a dam to produce hydrs! power in countey T and this agreement wus
ratified by the company. Develop your answer keeping in view the legal importance of
the ebject clausc in & \memorandutn of 1 company,

4. A. the holder of a bill transfors 1t to B, without consideration. B nlso transfers 1t to C
without consideration. C transfers to D for valuc. D translers it 1o E withoul
consideration. Discuss the nghts of £ against A, B, C axl D.

5. Wiite a detailed note on the different modes of dissolution of a fivn.

0. Discuss the law regarding appointiment of Umpire. Can the court remuve the umpire aid
under what circamistances?

2 Is the insurer liabic in the foliowing cases?
(1) A takes a policy vn his Jifc and later commits suicide.
(b) A uskes a policy on his wife's life and divorees her. She dies.

COMPULSORY QUESTION
8 Wrilc only the correct answer i the Answer Book. Do not reproduce the gueslion,
(1) A pesson on altaining age of majority:
() Can ratify an agreenicnt inade by him during his mmocily

() Cannol ratify an agrecment made by him during his minority
{c)  None of hese.

{2) A person who has attained the age of 18 while under guardian:
(a)  iscompetenttoconlract  (b)  is not cowpelcnt to contract
(c} None of thesc
(3} A person who is usuully of unsound mit:
(3)  can make a contract during the inferval when he is of sound inind
(L)  Cannot make a contract duriog the interval when he is of sound mind
(¢}  None of these
(9)  When a contracl is substituted with a new contract:
(#)  The original contract must be performed
(b The on;,ulal cuntract nced nol be perforued
(¢} None of these
(5) - Fora breach of contract
(a)  the plaintiff can recaver compensation if the subject matier of the contract
was easily available in the market
(b)  The plaintiff can recver compensition if the subject matler of the conlract
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TERCANTILE LAW:

(6}

(7

{8}

{9

(1)

{t1)

{12)

(13)

(14

(15)

(16)

k)

(1%)

(19}
(20}

The supplicr of necessaries:
() Can recover the price personally from the minor

(b)  Can zecover the price from the properly of the minor
(c)  Nune ol these

A contract by which one party promises Lo save the other from loss caused to him

by the conduct of the promiser himself, or by the conduct of any other person:

(i) Is called & contract of guaranty (b) Is calicd a contract of indermity

(c) None of these

Surcly is @ person:

(2} who promiscs to perfonn vr dischacge the liability of a (hird person
in cuse of his defuult

(b)  who promiscs to pecform or discharge the Iiability of a creditor in 2
contract ol puaranty

(c] Nune of these

Il the bailee's lawful charges are not paid, be may retain the goods:

(a)  this is known as charge (b)  this is known as pledge

(c) None of these

A person who work s under the control of another:

(a) Is known us on agent () s kuown s contractor

(£)  Noneof these

A promises to pay Rs. 1000 to B and takes a promissory note from him for that

amaount, but pays enly Rs, 500 to 13 '

(@) A will recover Rs,1000 on promissory note

(b) A will recover Rs. 500 on the promissory note

(3] None of these

A bill of cxchange is addressed to B. It is accepted by (i) B as a partaner of a firm

n the firm's name, (ii) it is accepted by B and C:

(a)  The acceptance, by B as a partner of a firm in the fimm’s name is correct.

{b)  The acceplance, by B & C, is correct

(c)  Nonc of these

A buys a nylon pant {roin a store and starts wearing it. A contracts skin diseasc:

(a) = A caurecover damages from the proprietor of the store

(b) A can recover damages from the proprictor of the store as well as the
manufacture .

(¢)  Nonc of lhese

A, B& C src partners in 2 business. An order for cerliin gowds is placed with D.

Before the goods are delivered, C dies. D had oo notice of the death of C:

(a)  Theestate of Cis liable (b) A & B are jointiy as weil as severaliy liable

{c)  Nonc of these

When a [irm is put w an end as between all the purties:

(a)  itiscalled winding up (b) itiscalled dissolution

(¢)  Nonc of these

A partner may be expelled from a firm if there is agreement to that eflcet:

(a) DBy majonity of the partners  (b) By all the pariners

(c)  None of these

DifTcrences between the arbitrators are:

(1)  decided by the Court (b)  decided by on Umpire

(¢)  None ol these

A authorizes B fo buy 50 sheep for him. B buys the whole lot of 44 sheep und 15

lambs for one sum of Rs. 30000:

(a) A can repudiate the whole transaction

(b) A must accept the whole transaction

(¢)  None of these

A public limited company must have:

(a) Ten ditectors (b)  Two direclors (¢}  None of these

An agreement based on bilateral mistake:

(a) 15 void (b)  isvoidable (<) None of these

detrirtetodere
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COMPETITIVE EXAMINATION I'OR RECRUI'TMENT TO PONTS
IN BPS-17, UNDER THE FEDERAL GOVERNMENT, 2M)5

MERCANTILE LAY
TIME ALLOWED: THREE JIOURS . MAXIMUM MARKS: 100
NOTE: Auswer FIVE questions in all, sndudug Question No.B which is COMI'IILSORY All questions cany EQUAL mwls,
[n ewch of the Ndlewing cascx give your decision s explrin n delail the legal principle thes applies 0n the case. Yo ansiver
must correctly identify the relovant arens of Inw, accurately discover and apply the approprisic provision thereof as well as the
teicvant case Taw. Your answer inust wlso be well siuctaed and well arguedl. Refraia from; (1) Reproducing the facts of e
cases: (2)- Unnecessary and smelevant details: (1) Unveadable handuriling,.

1. Tariy works for o book publisher, luking ordess for books and delivering books to bookshops
throughoul North Wesl Fronticr Province. “The customers pay for the books by scnding paymenl .
direct to the pnblisher and Tarig has no authority to acgept any puyments. However, Hamid, U
owner of the City Book Mart, has given payment for books to Tarig on a number of vceasions and
the publisher has not abjected. A few weeks ago Humid baught jarge quantity of books aml pave
Tarwg cash. “Tariy has disappeared with the money. The publisher is threatening (o sue |Hamid for
fhe price of tie hooks. Advise ITumid.

2. Javed, Muiad and Danish cary on business in partuership as painlers and decorators. The business
was started with a loan from Javed’s {ather Bashic, which the partners are stil! we-payng. The
[irms has two emiployees, Raheel ond Mubashir, who, although not partners, are treuted as trusted
members of the firm and have their names alongside those of the pariners an all of the (iom's
stativnery, Reeently the firm lias had some difficulties. Javed was working at 8 customer’s house
using a blow-lamp to sinp paint [rom the window Jrames, when he accidentally sct fire to e
wood and the house was badly damaged. Meanwhile, Murad was holding a ladder for Danish but
occidentally let it siip, so that Danish full and was injared. It has also come te light thal Danisb bud
laken moncy from a customer in order to buy paint and wallpaper, but instead he kept the money
for himnself. The two custamers and Danish are threntening 1o suc the firm, the partners, Raheel,
Mubashic amud Bashir for the loss mxi injury they have suffered. Advise the partics as (o thewr
polential liability,

3. Sawdar, tie ownee of # small computer shop, bought a consignment of compuiers from Shahbaz.
" Ilie computers tumed oul te be defechive and did not conform to the specification that Savdar had
bren lod o expeel. Sardar had assumned he was dealing dicectly with Shahbaz, who hid not
incicated thiat anyone clsc was involved in the transaction. However, when Sanlar confrunted
Shihbaz abont the defeets in the computers, Shahbaz told Sardor thet he hid been sclling the
machines on behall of Chips & Dyles (Private) Limited and wdded that any defects were net his
responsthility as be was oniy an agent. Sardar bas made inquities and discovered that Chips &
Bytes (Private) Limited have now gone into liquidativn, Advise Sardar.

4. A and B agreed to run a taition cealic on the parinership basis. In one of the clauses of their
contract they sgreed that they will scitle their disputes by way of arbitration instcad ol
sdjudication. In a dispute which was being settled by two arbilmtors appointed by them. A noticed
that his arbitiator appointed is unjustiliably favouring B. A doubts that his arbitrator might have
been bribed by 13, thecefore, he does ol expect any justice from him. How can he get ad of his
arbiteator? What would you advise him in these circunstances?

S Hightech (Private) Limited manufacturcs and sclis computer modenys. Goonline (Private) Limited
is #n imternet service provider thal requires a large and complex nodem to serve its customers.
Due to high demand, Goonline (Privaic) Limited is planning to expand its cusiomer base from
10,000 subscribers w 15,000 subscribers. 10,000 of the subscribers can be handled by the existing
modems thut Goonline (Privaic) Limited already has. However, in arder to accommodale twe
additional 5,000 subscribers, Goonline (Private) Limited contracts with Hightech (Private)
Linuled {o purchase 5 additional modens at a cost of Rs. 2,000 each. The contract specifies a
delivery date of 1 March. Goonline (rivate) Limited spends Rs.1,000 in advertising during the
month of February announcing the planned service, and is conlident that it will be able o sign up
an additional 1,010 subscribeis in the month of Mach afler installation of the new modems. On |
February, Highteeh (Private) Limited calls and repudiates siating that it is unable to meet the |
Murch delivery duc 1o a backlog of erders, but wouid be able to deliver by | April Gooniine
(Privatc) Limited chooscs o wail for the delivery by 1 April. Afler the modems are delivered and
instolled, Goonline (Private) Limited brings an action for the lost tevenucs from nn anticipates!
1,000 subscribers over the month of March (Rs. J0,000), the cost of advertising during the month
of February (Rs.1,000), and the cost of advertising during the month of March (Rs.1,000). Which,

if any, of these costs is recoverable? CSS THEANP COM ;
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Hassan Secds (Private) Limiled is a supplicr of Soya Beans seeds. Fahad contractedd with 1iassan
Secds (Private) Lumited for the delivery of one on of Suya Bean scods, for delivery at Fubad's
plant After deivery, Fahad began the process of inspecting: the Soya Beaws sceds for quality, The
inspection testing procedure is involved, and usually takes several weeks to complete becguse it
involves growing at least some of the seeds. Afler one month, Fahad noticed several delects in the
scedlings that were growing.  Fahad immedialely notificd Hassan Sceds {Private) Limited of the
tlefects, and 1¢jecicd the entive ol Hassan Sceds (Private) Limited comes to you for advice
concerning # possible action for breach against Fahad. Specifically, Hassan asks you whether
IFahad hos aceepted the seeds, or properly rejected the sceds, How do you advise Hassan Seeds
(’rivate) Linted?
Tanweer, who owns a shop selling clectrical goads, received an offer from Lowprice Tlectical
Wholesalers o sell him 50 washing machines at a discount price of Re.700 cach. The following
morning, Tanweer posted a letter o Lowprice Eloctrical Wholcsalers accepting their offer.
unaware that, al the samne tinie, Lowprice Electrical Wholesalers liad sent him a letter withdrawing,
the offer. Lawprice Electrical Wholcsalers 13 now refusing to deliver the washing. mnchines.
Tanweer also reecived a letter from Salam’s Discount Warchousc, oflering o supply bitn wiih 20
frcezers al Rs.1200 each. The letter stated that Salam’s would assume their ofter hud been
aceepled it they did nol hear Lo the contrary from Tanweer within 5 days. Tanweer, wiho did not
want (he ficezers, guored the letier but Salam’s Discount Wareliouse have now delivered the
freezers to his shop.

Advise Tunweer of his legal position in respect of both Lowprice Electrical Whelesalers and

Salam's Discount Warchouse.

COMIULSORY QUESTION

Write the correct answer in the Answer Book. Do not reproduce the question.

(1} ‘Talal is forming @ business which he wants to control vompletely. He knows nobody clse with
whom he wishes (0 work, he values his privacy, and he dislikes ormality, paper work, state Ghng
requireinents, and fawyers. What type of business organization shoutd he prefer?

(#) peneral partoecship (b)  Sole Proprictorship
(c) Single Member Company (d)  Noneof these

{2) The Aricles of Association of a company contain:
{3} asetof goveming rules adopted by the company
{b) rdwolutions of the buad of disectors
() mlonmation about the corporation, including its organization and funetions
() Nonc of these

(3) A padnership invalves twee essential elements. Which of the following is not one of those
elements?
(0)  Aneygual right in the management of the business
{b) Limited liabibty for the habilities of the fum
(£) A joint ownership of ke business {d)  None of these

{4} Rashid, Shohid, and Talal agiee 10 form a compuler business. Rashid ayrecs to manuge the
business and to assume full persoual liability, Shahid and Talal agree to invest i the fom but 1o be
liuble anly to that exteat. These tiree have formed

() @ limited hiability company (b) . almmited liability parincrsiip
{c) an valimited partnership : ()  None of these
(5) ‘The menibers of & limited partnership include:
{n)  peneral and liintted pariners tb)  general pasines only
e} enalilors (d)  Noneof these
(6} A bearer cheque may be negatiated by:
(4}  More Jelivery (b) Endursement and delivery
{c)  Dehivery with a separate written conlract U] None of these
(7) Ihe cesponsibility lur nverull management of a conpany belongs Lo:
(@) the chief financial ollcer (b) . twcmployees
(1) the hoasd of dirccions () Nune of these

(8) The best delimtion ol'a quonun s which of the following?
(a) Itis 5% ol all sharcholders

{b) [tis the number of members of a company that must be present belore

d
() 'l’:‘issnt\lt:s n':n:{»ebftﬂ?us:cf who must agree fo alter lhegﬁnﬁs ‘J;tl EAZ K P C O M

(d) Nome of these
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() Wicn a parinezship is found liable (or a dekbs, which assets are first used to pay the debt?
(2)  ludividual asscis of the putners (b)  Personal property of e limited paners
(c) Partnership agsets (d)  Noncof these

(10) "The board of directors does not have responsibility over which of the following areas?
(a) The appointment, supervision, and removal of corparate officers
(1)  The appeintment, supervision, and removal of eniployees gencrally
(€)  Uhe declaration and payment of cosporate dividends (¢) Noue nl these

{11) A found 3 wallet full of money on a roadside and upon finding the address of the owner in tie
wallet he retutned it (o its owner. When he came back he reed the announceinent of a reward for
the retum of such waltet in the newspaper:

(4}  The owner is liable 10 pay him the rewuud
() The owner is not lisble to pay him the reward
(¢} The owner is hable to pay hin half of the reward (d) None vl these

(12 Mubsin is considering forms of business organization for his Jaw firs, Oue advantage of the limited
liability partneezhip lonn is thal it allows the limited partners 1o avoid persons| Hability lor
(a) the malpractice of other limited partners regerding the conduct of the finn's business
(h} the ebligation of the lirm heyond their contributions (o the capital
{c) the obligations of the finn within the limit their contribulions 1o the cppital
() Noneuf'tbese

(13) A's son has forged 8'< name to 3 pronote. I under threat of prosecuting A's son dewandesd thal A
should sell himn his house that is woeth Rs. 1000,000/+ for 300,000/-. A agrees with the proposal.
The contract 15
(a) Valid {h) - Voidable
(¢} Voud (d) None of these -

{14} The best, stiple defintion of a contmet is: .
{(a) anobjeclive "meeting of the minds”  (b) a legally enlorceshle agreement
(c) 2 ducument reflecting a "meeting of the minds" between two or more compctont partics
(d) None of these

(15) Salman sigas a written contract with Khalid giving Jum the right tu cast his voles in lhe election
for the dircclors of Hashiya Limited, whose shares Salman holds. This agreemcnt between Saiman
and Khalid is known as:

(a) aderivative agreement (b}  aproxy
(c}  »Memorandum of Undorstauding (d)  None of these

(16) A sont 8 proposal to B by post for the sale of his house. B accepled the oller by post. A way
cevoke his proposal at any toe before
(a} B receives the lelter of proposa!l (b) B posts the letier of acceplance
() A rcceives the leder of aceeptance (d)  None of these

{17} Dantsh offers 1o scil 1o Sadiq & nicbile phone for Rs.550. Sadiq tells Danish that ke will take the
phume fur Ka 450, Nothing further is said end the next day, Danishi demands Ks 450 from Sixlig in
excinmge fon the phoue. Choose the correct slatement

(a) Sadiq is bound to pay as his offer has been sceepled by Danish.
(h)  Although there is no contract Sadiq;
{¢) Sadiq is not hownd (o pey as there is 00 conlruct; ) None of tiese

CI8) 1 you want to starl a porinership whal formal requirements do you have Lo meet?
{a) You mus? register the (irm with the Registrar of Firmis,
(b)  You do not need o sutisfy any formal requirements;
(¢} Your firm cannot operate until you drall and get regislered the Articles of Partnership,
(d) Nonc of these

(19) The relation belween the partacrs of a firm is of:

(a) Employer and Employee (b)  Trustec and Beneficiary
(c) Principal and Agent (d)  Nooo of these
(20) A bearer instnuncnt may be negoliated by:
(s) Mecre delivery ()  Endorseinent and delivery
(c) Delivery with n separste written contract (d)  Noncof these
LA LT ALY TR Y P'S‘: 3 ol 3
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